ERHT §6 ) M (EMRERE) (1B : {£5%)

iR 6.5. f(z) = 23 — 622 + 92 — 3.

(1) f'(z) =322 - 122+ 9
(2) KDZHDIE 3a% —12a +9 = 0 DfE,
362 —12a+9=3(a*—4a+3)=3(a—-1)(a—3) &b, a=1,3.
3)3(a—1)(a—3)>0Lt%25DlX a<l, 3<a.
(4) 3(a—1)(a—3)<0t%2DIF, 1<a<3.
(5)

f(x) + 0 — 0 +
flx) | #m | 1| W | -3 | 8

(6) 77 71380 (L2, y YR -3).
BiRE 6.6. f(z)= —a®+ 22 +2— 1.

(1) f'(z) = =322+ 2241 =—Bz+1)(z—1) 0, fl(z) =0 LK 2DiFz = —
BEWE I TOX )RS ;

1
3 L

flz) | - 0 +
flz) | W | =22 [ sm | o | wme

(2) LoMgELD, BAMEIZ0 (=10, %), WHMEEZ -2 (1=—-3 DLE),
(3) 777 71340 (LoMEEzSl, y Uk —1).
(4) —1 <z <2 DHEPHATOMMEIIRD L H 1T D ;

x -1 —
1 (x) - 0 + |0 —
fl@) | 0 | A | =32 | ¥ | o | s | -3

W=
[S—
(\V]

LZoC mRAMEIFZO (r=-18BXO1DEE), /MG -3 (=20 L E).

http://www.math.sie.dendai.ac.jp/ hiroyasu/2011/bmsp.html



